# Some new Travelling Wave Solutions for the Dissipative Compound Korteweg-de Vries Burgers Equation 

Manotosh Mandal<br>Department of Mathematics,<br>Tamralipta Mahavidyalaya, Tamluk-721636, West Bengal, India.<br>E-mail: manotosh09@gmail.com


#### Abstract

In this paper the effect of a small dissipation on waves is considered to find the exact solution to the dissipative Compound Kortewegde Vries Burgers equation (DCKdVB) in the presence of viscosity and in the absence of viscosity. With the help of the canonical form of Abel equation it is proved that the DCKdVB equation is integrable in terms of Weierstrass' elliptic functions.


Keywords: KdV-Burger equation, Traveling wave solutions, Elliptic solutions, Solitons, Wierstrass' elliptic function

## 1 Introduction

In this paper we consider the well-known compound Korteweg-de Vries-Burger (CKdVB) equation.

$$
\begin{equation*}
u_{t}+p u u_{x}+q u^{2} u_{x}+r u_{x x}-s u_{x x x}=0, \tag{1.1}
\end{equation*}
$$

where $p, q, r, s$ are all real constants. This equation is actually a combination of the $\mathrm{KdV}, \mathrm{mKdV}$ and Burger equations, involving nonlinear dispersion and dissipation effects. For the different choices for $p, q, r, s$ we can find different well-established differential equations.

For $p \neq 0, q \neq 0, r=0, s \neq 0$; the (1.1) reduces the compound KdV equation as

$$
\begin{equation*}
u_{t}+p u u_{x}+q u^{2} u_{x}-s u_{x x x}=0, \tag{1.2}
\end{equation*}
$$

For $p=0, q \neq 0, r \neq 0, s \neq 0$; the (1.1) reduces the mKdV-Burgers equation as

$$
\begin{equation*}
u_{t}+q u^{2} u_{x}+r u_{x x}-s u_{x x x}=0, \tag{1.3}
\end{equation*}
$$

For $p \neq 0, q=0, r \neq 0, s \neq 0$; the (1.1) reduces the KdV-Burgers equation as

$$
\begin{equation*}
u_{t}+p u u_{x}+r u_{x x}-s u_{x x x}=0, \tag{1.4}
\end{equation*}
$$

For $r=0$ in (1.3), (1.4), we get the mKdV equation as

$$
\begin{equation*}
u_{t}+q u^{2} u_{x}-s u_{x x x}=0 \tag{1.5}
\end{equation*}
$$

and KdV equation as

$$
\begin{equation*}
u_{t}+p u u_{x}-s u_{x x x}=0 \tag{1.6}
\end{equation*}
$$

N. A. Kudryashov [16] worked on KdV (1.6) KdV-Burgers equations (1.4) and established some new travelling wave solutions of these equations. Zhaosheng Feng [5] obtained a new class of solutions of the Kortewegde VriesBurgers equation(1.4). Zheng et. al [17] have also obtained some new Exact Traveling Wave Solutions for Compound KdV-Burgers Equations (1.1) in Mathematical Physics. Stefan C. Mancas, Greg Spradlin, and Harihar Khanal [12] have solved for Weierstrass traveling wave solutions for dissipative Benjamin, Bona, and Mahony (BBM) equation

$$
u_{t}+u_{x}+u u_{x}-u_{x x t}=\nu u_{x x}
$$

where $\nu$ is a transformed kinematic viscosity coefficient. A generalization to the equation(1.1) by adding a dispersion term is provided by the equation

$$
\begin{equation*}
u_{t}+p u u_{x}+q u^{2} u_{x}+r u_{x x}-s u_{x x x}=\gamma u_{x} \tag{1.7}
\end{equation*}
$$

where $\gamma$ is a real constant parameter, describes the unidirectional propagation of shallow water waves over a flat bottom (see[11]). The equation (1.7) is named as dissipative Compound Kortewegde Vries Burgers equation (DCKdVB).

## 2 General solutions of the DCKdVB equation in the travelling wave

We first present the general solution of the DCKdVB equation by using the travelling wave in Eq. (1.7). $u(x ; t)=u(\zeta) ; \quad \zeta=x-c t$ is the travelling wave variables and $c \neq 0$ is the translational variable.
Then by considering ${ }^{\prime}=\frac{d}{d \zeta}$ (1.7) becomes
$-c u^{\prime}+p u u^{\prime}+q u^{2} u^{\prime}+r u^{\prime \prime}-s u^{\prime \prime \prime}=\gamma u^{\prime}$
Integrating and simplifying,

$$
\begin{equation*}
u^{\prime \prime}-\frac{r}{s} u^{\prime}+\frac{1}{s}\left[(\gamma+c) u-\frac{p}{2} u^{2}-\frac{q}{3} u^{3}+A\right]=0 \tag{2.1}
\end{equation*}
$$

where $A$ is an integrating constant. To solve (2.1) we first state and prove the following lemma and using this lemma we will establish the solutions for the equation (2.1) in the form of travelling wave.

Lemma 1 Solutions to a general second order ODE of the type

$$
\begin{equation*}
u_{\zeta \zeta}+q_{o}(u)+q_{2}(u)=0 \tag{2.2}
\end{equation*}
$$

can be establish via the solutions to first kind of Abel's equation

$$
\begin{equation*}
\frac{d y}{d u}=q_{0}(u) y^{2}+q_{2}(u) y^{3} \tag{2.3}
\end{equation*}
$$

and vice versa by using the relationship $u_{\zeta}=\eta(u(\zeta))$.

Proof Since $u_{\zeta}=\eta(u(\zeta))$, we have $u_{\zeta \zeta}=\frac{d \eta}{d u} u_{\zeta}=\eta \frac{d \eta}{d u}$.
Then (2.2) reduces to the second kind of Abel's equation

$$
\begin{equation*}
\eta \frac{d \eta}{d u}+q_{0}(u) \eta+q_{2}(u)=0 \tag{2.4}
\end{equation*}
$$

Let us take a transformation of the dependent variable as $\eta(u)=\frac{1}{y(u)}$. So the equation (2.4) becomes

$$
\frac{d y}{d u}=q_{0}(u) y^{2}+q_{2}(u) y^{3}
$$

which is (2.3). By comparing (2.1) and (2.2),

$$
\begin{equation*}
q_{0}(u)=-\frac{r}{s}, \quad q_{2}(u)=\frac{1}{s}\left[(\gamma+c) u-\frac{p}{2} u^{2}-\frac{q}{3} u^{3}+A\right] \tag{2.5}
\end{equation*}
$$

Again let us consider the linear transformation, $v=\int q_{0}(u) d u=-\frac{r}{s} u$. Then (2.3) transformed into

$$
\begin{equation*}
\frac{d y}{d v}=y^{2}+g(v) y^{3} \tag{2.5a}
\end{equation*}
$$

where $g(v)=-\frac{(\gamma+c) s}{r^{2}}+\frac{p}{2 r^{3}} s^{2} v^{2}-\frac{q}{3 r^{4}} s^{3} v^{3}-\frac{A}{r}$ is known as Appell's invariant. Now the Lemke's transformation,

$$
\begin{equation*}
y=-\frac{1}{z} \frac{d z}{d v} \tag{2.5b}
\end{equation*}
$$

transformed the equation (2.5a) into a second-order differential equation

$$
\begin{equation*}
z^{2} \frac{d^{2} v}{d z^{2}}+g(v)=0 \tag{2.5c}
\end{equation*}
$$

### 2.1 No viscosity, $r=0$

In this case the equation (2.3) becomes $\frac{d y}{d u}=q_{2}(u) y^{3}$, which reduces in the form by using (2.5)
$y^{-3} d y=\frac{1}{s}\left[(c+\gamma) u-\frac{p}{2} u^{2}-\frac{q}{3} u^{3}+A\right] d u$
Integrating and using the relations $\eta(u)=\frac{1}{y(u)}$ and $u_{\zeta}=\eta(u(\zeta))$, we have

$$
\begin{equation*}
u_{\zeta}^{2}=\frac{1}{s}\left[-(c+\gamma) u^{2}+\frac{p}{3} u^{3}+\frac{q}{6} u^{4}-2 A u\right]-2 D \tag{2.1.1}
\end{equation*}
$$

where $D$ is an integrating constant. This equation can be written as

$$
\begin{equation*}
\left(\frac{d u}{d \zeta}\right)^{2}=\frac{q}{6 s} u^{4}+\frac{p}{3 s} u^{3}-\frac{(\gamma+c)}{s} u^{2}-\frac{2 A}{s} u-2 D \equiv R(u), \text { say } \tag{2.1.2}
\end{equation*}
$$

Let us consider the equation

$$
\left(\frac{d f}{d z}\right)^{2}=a_{0} f^{4}+4 a_{1} f^{3}+6 a_{2} f^{2}+4 a_{3} f+a_{4} \equiv R(f)
$$

This equation can be solved in terms of Weierstrass elliptic function $\wp$ (see[15]) as

$$
f(z)=f_{0}+\frac{R^{\prime}\left(f_{0}\right)}{4\left[\wp\left(z ; g_{2}, g_{3}\right)-\frac{1}{24} R^{\prime \prime}\left(f_{0}\right)\right]}
$$

where prime denotes the derivative w.r.t $f$ and $f_{0}$ is a simple root of $R(f)$. The invariants $g_{2}, g_{3}$ of $\wp\left(z ; g_{2}, g_{3}\right)$ are given by
$g_{2}=a_{0} a_{1}-4 a_{1} a_{3}+3 a_{2}^{2}$
$g_{3}=a_{0} a_{1} a_{4}+2 a_{1} a_{2} a_{3}-a_{2}^{3}-a_{0} a_{3}^{2}-a_{1}^{2} a_{4}$ and the discriminant is $\triangle=g_{2}^{3}-27 g_{3}^{2}$.
Thus the solution of (2.1.2) is,

$$
u(\zeta)=u_{0}+\frac{R^{\prime}\left(u_{0}\right)}{4\left[\wp\left(\zeta ; g_{2}, g_{3}\right)-\frac{1}{24} R^{\prime \prime}\left(u_{0}\right)\right]}
$$

where $u_{0}$ is a simple root of $R(u)$. Invariants are
$g_{2}=-\frac{q D}{3 s}+\frac{p A}{6 s^{2}}+\frac{c^{2}}{12 s_{3}^{2}}$
$g_{3}=\frac{q c}{18 s^{2}}+\frac{p A c}{72 s^{3}}+\frac{c^{3}}{216 s^{3}}-\frac{q A^{2}}{24 s^{3}}-\frac{p^{2} D}{72 s^{2}}$
discriminant, $\triangle=g_{2}^{3}-27 g_{3}^{2}$.
When $q=0$, (2.1.1) reduces to

$$
\begin{equation*}
u_{\zeta}^{2}=\frac{1}{s}\left[-(c+\gamma) u^{2}+\frac{p}{3} u^{3}-2 A u\right]-2 D, \tag{2.1.3}
\end{equation*}
$$

Let us consider the special class of solutions that travel with a critical speed $c=-\gamma$.
If $c=-\gamma$ and $A=0$, then the equation (2.1.2) becomes

$$
\begin{equation*}
\left(\frac{d u}{d \zeta}\right)^{2}=\frac{p}{3 s} u^{3}-2 D=\frac{p}{3 s}\left(\frac{u^{3}}{3}+\frac{B^{3}}{3}\right), \text { where } D=\frac{B^{3} p}{6 s}, B \neq 0 \tag{2.1.4}
\end{equation*}
$$

Now let us take the transformation $\psi^{2}=B+u$, where $=\psi(\zeta)$. Then (2.1.4) becomes

$$
\begin{equation*}
4 \psi^{2} \psi_{\zeta}^{2}=\frac{p}{3 s}\left(\frac{\left(\psi^{2}-B\right)^{3}}{3}+\frac{B^{3}}{3}\right) o r, \psi_{\zeta}^{2}=\frac{p}{12 s}\left(\psi^{4}-3 \psi^{2} B+3 B^{2}\right) \tag{2.1.5}
\end{equation*}
$$

Again we assume that $\psi=3^{\frac{1}{4}} \sqrt{B} z(\zeta)$. Then (2.1.5) becomes

$$
\begin{equation*}
z_{\zeta}= \pm \frac{\sqrt{p B}}{3^{\frac{1}{4}} 2 \sqrt{s}} \sqrt{z^{4}-\sqrt{3} z^{2}+1} \tag{2.1.6}
\end{equation*}
$$

The ordinary differential equation (2.1.6) is solved by using Jacobi elliptic functions (see[12]). Using Jacobi elliptic function, (2.1.6) gives

$$
\frac{2 z}{1+z^{2}}= \pm S n\left(\frac{\sqrt{p B}}{3^{\frac{1}{4}} \sqrt{s}} \zeta, k\right), \text { where } k=\frac{\sqrt{3}+1}{2 \sqrt{2}}=\text { modulus of Jacobi elliptic function. }
$$

or, $\frac{2 \psi}{3^{\frac{1}{4}} \sqrt{B}\left(1+\frac{\psi^{2}}{\sqrt{3 B}}\right)}= \pm S n\left(\frac{\sqrt{p B}}{3^{\frac{1}{4}} \sqrt{s}} \zeta, k\right)$
or, $\frac{2 a \psi}{a^{2}+\psi^{2}}= \pm \operatorname{Sn}\left(a \frac{\sqrt{p}}{\sqrt{3 s}} \zeta, k\right)$, where $a=3^{\frac{1}{4}} \sqrt{B}$
By solving the above quadratic equation we have,

$$
\begin{equation*}
= \pm a \frac{1 \pm C n\left(a \frac{\sqrt{p}}{\sqrt{3 s}} \zeta, k\right)}{\operatorname{Sn}\left(a \frac{\sqrt{p}}{\sqrt{3 s}} \zeta, k\right)} \tag{2.1.7}
\end{equation*}
$$

Hence, the solution to the equation (1.7) without viscosity is

$$
\begin{align*}
u(x, t)=\psi^{2}-B= & a^{2} \frac{\left[1 \pm C n\left(a \frac{\sqrt{p}}{\sqrt{3 s}} \zeta, k\right)\right]^{2}}{S^{2}\left(a \frac{\sqrt{5}}{\sqrt{3 s}} \zeta, k\right)}-B \\
& =B \sqrt{3}\left[\frac{1 \mp C n\left(\frac{\sqrt{p B}}{3^{\frac{1}{4}} \sqrt{s}}(x+\gamma t), k\right)}{1 \pm C n\left(\frac{\sqrt{p B}}{3^{\frac{1}{4}} \sqrt{s}}(x+\gamma t), k\right)}-\frac{1}{\sqrt{3}}\right] \tag{2.1.8}
\end{align*}
$$

Tamralipta Mahavidyalaya Research Review
A Peer Review National Journal of Interdisciplinary Studies
Vol.2:2017


Fig.1. Traveling waves $r=0$ with $B=0.25, \quad p=0.25, \quad s=1$, left $\gamma=0.2$, middle $\gamma=4.5$ and right $\gamma=9.5$, Eq. (2.1.8).

### 2.2 Viscosity present, $r>0$

The equation (2.5a) is in the form of non-autonomous ordinary differential equation $F\left(y, y_{v}, v\right)=0$. Since $v(z)$ has only poles of order two, then the solution of the equation (2.5c) must be obtained in terms of Weierstrass $\wp$ functions (see[14], p-431) via the transformation

$$
\begin{equation*}
v=E z^{p} w(z)+F \tag{2.2.1}
\end{equation*}
$$

By substituting (2.2.1) in the equation (2.5c) with $\mathrm{E}, \mathrm{F}$ constants, then for $p=\frac{2}{5}, \omega(z)$ will satisfy the elliptic equation

$$
\begin{equation*}
\omega^{2}=4 \omega^{3}-g_{2} \omega-g_{3} \tag{2.2.2}
\end{equation*}
$$

where $g_{2}, g_{3}$ are invariants. Since $\frac{d v}{d z}=-\frac{1}{y z}$ and $v(\zeta)=-\frac{r}{s} u(\zeta)$, we have

$$
\begin{equation*}
\frac{d z}{z}=\frac{r}{s} d \zeta \tag{2.2.3}
\end{equation*}
$$

The Weierstrass $\wp$ solutions can be written into the combined general substitution

$$
\begin{equation*}
u(\zeta)=\alpha-g(\zeta)=\alpha-e^{-m \zeta} \Phi(\zeta) \tag{2.2.4}
\end{equation*}
$$

where $\alpha$ and $m$ are constants related to $A$ and $p$. Substituting (2.2.4) into the equation (2.1),

$$
\begin{equation*}
g^{\prime \prime}-\frac{r}{s} g^{\prime}-\frac{q}{3 s} g^{3}+\left(\frac{p}{2 s}+\frac{q \alpha}{s}\right) g^{2}+\left(\frac{\gamma+c}{s}-\frac{p \alpha}{s}-\frac{q \alpha^{2}}{s}\right) g=0 \tag{2.2.5}
\end{equation*}
$$

here we consider

$$
\begin{equation*}
A=-(\gamma+c) \alpha+\frac{p}{2} \alpha^{2}+\frac{q}{3} \alpha^{3} \tag{2.2.6}
\end{equation*}
$$

From (2.2.4) we have $g(\zeta)=e^{-m \zeta} \Phi(\zeta)$, therefore $g^{\prime}(\zeta)=e^{-m \zeta}\left(\Phi^{\prime}-m \Phi\right)$ and $g^{\prime \prime}(\zeta)=e^{-m \zeta}\left(\Phi^{\prime \prime}-2 m \Phi^{\prime}+m^{2} \Phi\right)$. Hence (2.2.5) becomes

$$
\begin{equation*}
\Phi^{\prime \prime}-\left(2 m+\frac{r}{s}\right) \Phi^{\prime}+\left(m^{2}+\frac{r m}{s}+\frac{\gamma+c}{s}-\frac{p \alpha}{s}-\frac{q \alpha^{2}}{s}\right) \Phi=\frac{q}{3 s} e^{-2 m \zeta} \Phi^{3}-\left(\frac{p}{2 s}+\frac{q \alpha}{s}\right) e^{-m \zeta} \Phi^{2} \tag{2.2.7}
\end{equation*}
$$

We now consider $\Phi(\zeta)=w(z(\zeta))$. By using the chain rule with ${ }^{\prime}=\frac{d}{d \zeta}$ and $*=\frac{d}{d z}$ we have
$\Phi^{\prime}(\zeta)=w^{*} z^{\prime}$ and
$\Phi^{\prime \prime}(\zeta)=w^{* *} z^{2}+w^{*} z^{\prime \prime}$

Therefore the equation (2.2.7) becomes

$$
\begin{equation*}
z^{\prime 2} w^{* *}+\left[z^{\prime \prime}-\left(2 m+\frac{r}{s}\right) z^{\prime}\right] w^{*}+\left(m^{2}+\frac{r m}{s}+\frac{\gamma+c}{s}-\frac{p \alpha}{s}-\frac{q \alpha^{2}}{s}\right) w=\frac{q}{3 s} e^{-2 m \zeta} w^{3}-\left(\frac{p}{2 s}+\frac{q \alpha}{s}\right) e^{-m \zeta} w^{2} \tag{2.2.8}
\end{equation*}
$$

By setting

$$
\begin{equation*}
z^{\prime \prime}-\left(2 m+\frac{r}{s}\right) z^{\prime}=0 \tag{2.2.9}
\end{equation*}
$$

we get

$$
\begin{equation*}
z^{\prime}=c_{1} e^{\left(2 m+\frac{r}{s}\right) \zeta} \tag{2.2.10}
\end{equation*}
$$

where $c_{1}$ is an arbitrary constant. Again if we choose

$$
\begin{equation*}
m^{2}+\frac{r m}{s}+\frac{\gamma+c}{s}-\frac{p \alpha}{s}-\frac{q \alpha^{2}}{s}=0 \tag{2.2.11}
\end{equation*}
$$

then the equation (2.2.8) reduces to the following simplify equation

$$
\begin{equation*}
z^{\prime 2} w^{* *}-\frac{q}{3 s} e^{-2 m \zeta} w^{3}+\left(\frac{p}{2 s}+\frac{q \alpha}{s}\right) e^{-m \zeta} w^{2}=0 \tag{2.2.12}
\end{equation*}
$$

The equation (2.2.12) can be make a more simple by choosing $q=0$ and it reduces to

$$
\begin{equation*}
z^{\prime 2} w^{* *}+\frac{p}{2 s} e^{-m \zeta} w^{2}=0 \tag{2.2.13}
\end{equation*}
$$

Our aim is now to solve the differential equation (2.2.13) with the help of (2.2.10) by setting $m=-\frac{2}{5} \frac{r}{s}$. Therefore the equation (2.2.13) becomes

$$
\begin{aligned}
& c_{1}^{2} e^{\frac{2}{5} \frac{r}{s} \zeta} w^{* *}=-\frac{p}{2 s} e^{\frac{2}{5} \frac{r}{s} \zeta} w^{2} \\
& \text { or, } w^{* *}=-\frac{p}{2 s c_{1}^{2}} w^{2}=6 w^{2} \text { where } c_{1}^{2}=-\frac{p}{12 s}
\end{aligned}
$$

Integrating above equation we obtain

$$
\begin{equation*}
w^{* 2}=4 w^{3}-g_{3} \tag{2.2.14}
\end{equation*}
$$

where $g_{3}$ is an integrating constant. Solution to the differential equation (2.2.14) is given by in terms of Weierstrass $\wp$ function as

$$
\begin{equation*}
w(z)=\wp\left(z+c_{3}, 0, g_{3}\right) \tag{2.2.15}
\end{equation*}
$$

with invariants $g_{2}=0$ and $g_{3}$. Here $c_{3}$ is an arbitrary constant.
Now the solution to the differential equation (2.2.10) is

$$
\begin{equation*}
z(\zeta)=c_{2}+\frac{5 c_{1} s}{r} e^{\frac{r}{5 s} \zeta} \tag{2.2.16}
\end{equation*}
$$

where $c_{2}$ is an integrating constant. Hence we have with $c_{4}=c_{2}+c_{3}$

$$
\begin{equation*}
\Phi(\zeta)=w(z(\zeta))=\wp\left(c_{4}+\frac{5 c_{1} s}{r} e^{\frac{r}{5 s} \zeta}, 0, g_{3}\right) \tag{2.2.17}
\end{equation*}
$$

Since here $q=0$ and $m=-\frac{2}{5} \frac{r}{s}$ the equation (2.2.11) becomes $\alpha=\frac{1}{p}\left[\gamma+c-\frac{6}{25} \frac{r^{2}}{s}\right]$ and (2.2.6) reduces to $A=-(\gamma+c) \alpha+\frac{p}{2} \alpha^{2}$.
Hence we have

$$
\begin{equation*}
\alpha=\frac{\gamma+c \pm \sqrt{(\gamma+c)^{2}+2 p A}}{p} \tag{2.2.18}
\end{equation*}
$$

Therefore the general solution to the differential equation (2.2.2) is

$$
\begin{equation*}
u(\zeta)=\alpha-g(\zeta)=\frac{\gamma+c \pm \sqrt{(\gamma+c)^{2}+2 p A}}{p}-e^{\frac{2 r}{5 s} \zeta} \wp\left(c_{4}+\frac{5 c_{1} s}{r} e^{\frac{r}{5 s} \zeta}, 0, g_{3}\right) \tag{2.2.19}
\end{equation*}
$$

Tamralipta Mahavidyalaya Research Review
A Peer Review National Journal of Interdisciplinary Studies
Vol.2:2017

By setting a particular value for the velocity $c$ and the other parameters, we obtain $\alpha$ and $A$ and substitution of these values in the equation (2.2.19) gives the solution of the differential equation (1.7).



Fig.2. Solution for $r=1$ with $A=1, \quad p=0.25, \quad s=1 \gamma=0.5, \quad c_{1}=0.5, \quad c_{4}=1, \quad g_{3}=1$, left $c=0.25$, middle $c=1.0$ and right $c=2.4$, Eq. (2.2.19).


Fig.3. Solution for $r=1$ with $A=1, \quad p=0.25, \quad s=1 \gamma=0.5, \quad c_{1}=0.5, \quad c_{4}=1, \quad g_{3}=1$, left $c=3.5$ and right $c=4.5$, Eq. (2.2.19).

## 3 Conclusions

In this paper we considered Compound Kortewegde Vries Burgers equation(CKdVB)and introduced the dissipation term and finally we got the dissipative Compound Kortewegde Vries Burgers equation (DCKdVB). With the help of the canonical form of Abel equation it is proved that the DCKdVB equation is integrable in terms of Weierstrass' elliptic functions. We solved this equation in two ways (i) when the viscous term is not present(i.e, $r=0$ ) and it has traveling wave solutions which depend critically on the traveling wave velocity. (ii) When the viscous term is present(i.e, $r>0$ ) and we solved it with the help of Weierstrass' elliptic functions.

## References

[1] Wang, M. L., Exact solution for a compound KdV-Burgers equation, Physics Letter A, 213(1996), 279-287.
[2] Yan, C. T., A simple transformation for nonlinear waves, Physics Letter A, 224(1996), 77-82.

Tamralipta Mahavidyalaya Research Review
A Peer Review National Journal of Interdisciplinary Studies Vol.2:2017
[3] Yan, Z.Y. and Zhang, H. Q., New explicit and exact travelling wave solution for a system variant Boussinesq equation in mathematical physics, Physics Letter A, 252(1999), 291-296.
[4] Wu, W.T., Polynomial equations-solving and its applications, Algorithms and Computation, (Beijing 1994), 1-9, Lectures Notes in Comput Sci., 834, Springer-Verlag, Berlin, 1994.
[5] Zhaosheng Feng, An exact solution to the Kortewegde VriesBurgers equation,Applied Mathematics Letters 18 (2005) 733737.
[6] Wazzan L. , A modified tanh-coth method for solving the KdV and the KdV-Burgers equations, Commun. Nonllinear Sci Numer Simulat, 2009; 14: 443-50
[7] Korteweg D.J., de Vries G, On the change of form of long waves advancing in a rectangular canal and on a new tipe of long stationary waves, Phil. Mag., 1895; 39: 422-43.
[8] Gardner C.S., Green J.M., Kruskal M.D. and Miura R. M. Method for solving the Korteweg-de Vries equations, Phys. Rev. Lett. 1967; 19: 1095-97.
[9] Ablowitz M.J., Kaup D. J., Newell A. C., Segur H. The Inverse Scattering Transform - Fourier Analysis for Nonlinear Problems, Stud. Appl. Math. 1974; 53: 249-315.
[10] Ablowitz M.J. and Clarkson P.A. Solitons Nonlinear Evolution Equations and Inverse Scattering, Cambridge university press, 1991.
[11] Camassa R. and Holm, D., Phys. Rev. Lett. 71, 1661(1993).
[12] Stefan C. Mancas, Greg Spradlin, and Harihar Khanal, Weierstrass traveling wave solutions for dissipative Benjamin, Bona, and Mahony (BBM) equation, Journal of Mathematical Physics 54, 081502 (2013).
[13] Benjamin, T. B., Bona, J. L. and Mahony, J. J., Model equations for long waves in nonlinear dispersive systems, Philos. Trans. R. Soc. London, Ser. A 272(1220), 4778 (1972).
[14] Ince, E. L., Ordinary Differential Equations (Dover, NY, 1926).
[15] Whittaker E. T. and Watson, G. N., Acourse of Modern analysis, Cambridge Univ. press, Cambridge, 1927,453.
[16] Kudryashov, N. A., "On "new travelling wave solutions" of the KdV and the KdV-Burgers equations," Commun. Nonlinear Sci. Numer. Simul. 14(5), 18911900 (2009).
[17] Xue-dong Zheng, Tie-cheng Xia and Hong-qing Zhang, New Exact Traveling Wave Solutions for Compound KdV-Burgers Equations in Mathematical Physics, Applied Mathematics E-Notes, 2(2002), 45-50.
[18] Kudryashov N.A., Zargaryan E.D., Solitary waves in active-dissipative dispersive media, J Phys A: Math. Gen., 1996; 29: 8067-77.
[19] Soliman A.A., Chaos, Solitons and Fractals, Exact solutions of the KdV-Burgers equation by Exp-function method, Chaos, Solitons and Fractals, 2008; doi: 10.1016/J.chaos. 2008.04.038.
[20] Lu D., Hong B., Tian L, New solitary wave and periodic wave solutions for general types of KdV and KdV-Burgers equations, Commun Nonlinear Sci Numer Simulat, 2009; 14: 77-84.

